7

6 | 5

VERIFONE MX915

M3 X 8MM LONGBUTTON HEAD SOCKET CAP SCREW
SECURES THE MODULE TO THE VERIFONE MX?215

2MM HEX WRENCH (HAVIS PROVIDED)

#8-32 X .63" LONG THUMB SCREW
SECURES VERIFONE MX?915 TO SWIVEL BASE

#8-32 X .25" LONG PHILLIPS SCREW

CABLE CLIP

3X #10 X 1.00 LONG
PHILLIPS FLATHEAD SCREWS

SWIVEL BASE
ROTATES 180°

/ \

-

®1.51

CABLE EXIT/ENTRY)

—=
(1.30)L—( O 4.75

(7.14)

REVISIONS

CUSTOMER APPROVAL
(SIGNATURE REQUIRED):

SHEET 1 OF 1

DWG. NO.

367-248]1

REV. TITLE

F LOW CONTOUR STAND 8-90 DEGS

DRAWN

A. MCLAUGHLIN

DATE

6/4/2012

CENTER HOLE SWIVEL

VERIFONE MX915/MX925/M424/M425

K

SHEET 1 OF 2

REV

DESCRIPTION

DATE

BY

CHK'D

F

REVISED PIVOT MOUNT ASSEMBLY FOR
IMPROVED PIVOTING PERFORMANCE

06/20/16

JEB

SCB

THE INFORMATION CONTAINED IN THIS DRAWING IS THE SOLE PROPERTY OF HAVIS, INC. AND REPRODUCTION IN PART OR IN WHOLE WITHOUT THE WRITTEN PERMISSION OF HAVIS, INC. IS PROHIBITED.

3

/

6 I )

i

7 T

LIS

CUSTOMER VERIFICATION




7

6 | S i

VERIFONE MX925

M3 X BMM LONGBUTTON HEAD SOCKET CAP SCREW
SECURES THE MODULE TO THE VERIFONE MX 925

#8-32 X .63" LONG THUMB SCREW
SECURES VERIFONE MX925 TO SWIVEL BASE

#8-32 X .25" LONG
PHILLIPS SCREW

CABLE CLIP

3X #10 X 1.00 LONG
PHILLIPS FLATHEAD SCREWS

SWIVEL BASE
ROTATES 180°

CUSTOMER APPROVAL
(SIGNATURE REQUIRED):

SHEET 1 OF 1

TITLE

LOW CONTOUR STAND 8-90 DEGS

DWG. NO. REV.
367-248]1 F

DRAWN DATE

A. MCLAUGHLIN 6/4/2012

CENTER HOLE SWIVEL
VERIFONE MX915/MX925/M424/M425

SHEET 2 OF 2

K

REVISIONS

REV

DESCRIPTION

DATE

BY CHK'D

F

SEE SHEET 1

06/20/16

JEB SCB

THE INFORMATION CONTAINED IN THIS DRAWING IS THE SOLE PROPERTY OF HAVIS, INC. AND REPRODUCTION IN PART OR IN WHOLE WITHOUT THE WRITTEN PERMISSION OF HAVIS, INC. IS PROHIBITED.

3

/

6 I ) i

7

LIS

CUSTOMER VERIFICATIO




	CV(3)
	Drawing View103
	Drawing View104
	Drawing View105
	Drawing View106
	Drawing View107
	Drawing View108
	Drawing View110

	CV(4)
	Drawing View111
	Drawing View112
	Drawing View113
	Drawing View114
	Drawing View115
	Drawing View116


